BT HER2

A OB OE
2B I - -4 BEE2HE AR ILA—4—RHRT SRS (AFHE) ZHNFEERE 1,075,680
(FiAH)
A #L %= i B ERk27%E389H8 ¥ F i % 1,218,240
BT EARR (#iRE) TRR21F4HA1B ~ FR28F3A31H AFLE e 8 4% (100/108) 1,128,000
ZHLFEXSE ICENHER T R OE A A —
LE B {fi#& (100.7108) —
T £ 5 — 2 b3 88.30%
A#L&%5(100/108)
E S wm =
E1[H %2[q %30 $4[0 5[0
1 1B EHILR—E—TFTH/X 3| 1,269,900 BEFAFRL
2 |BEAEmEHEE%RASH 1 996,000 EILFTESE EFAHL
3 (K&t TETFIYTA——ER iR FEAFL
4 [ TR A= —TLR—4—KAE1t 2| 1,020,000 FEAAL
5
6
7
8
AFLENAT AK R UsE BN EE



